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H2.1

1) V8=+vax2=|22

@) 28 =\4x7=|2\7
3) 98 =49x2 =72
4) 108 =+/36x3 =|6+/3

(5) 3418 =3x/9x 2 =3x3v2 =| 92
6) 432 =4x16x2 = 4x 42 =| 162

H2.2
(1) /300 =/100x3 =10+/3 =10 x1.7320508-- - = [17.320]5---

@) /3000 =v100x 30 =104/30 =10 x5.4772255. - =|54.772]2. .

3) i:£:£:i><1]320508...: A732---
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4) @:M:mo g:lOO\/§=100x1.7320508...: 73.205(0- -
BB 3

H2.3

1) 242+3V2=2+32=|5/2

® E-SVrela=(3-2. 1) 500 RN

LR
B) VB+v32=22+4V2 =2 +4W2=|62
@) 42 -V18=42-32 =(4-3)2 =|\2




H2.4
(D) x/ﬁ+\/%+\/475+\/478:2\/§+2\/g+3\/5+4\/§
= 6\/§+5\/g

@) 245+ 3480 —+/20 —24/180 = 24/5 + 3x 44/5 — 24/5 —2x 65
:%+M—%—M=@

3) V150 +3v27 = /363 = 24/96 = 516 + 3x3v3 ~11/3 =2 x 4/6
=|-3V6 243

@) V6 x15 =/3x2 x+/3x5 =/9x10 =| 3310

) V18 x/56 = 332 x 214 = 6x /28 = 6x 24/7 = [ 124/7

(6) JE(@—JE)—«/E(@—\/E)=\/§(4J§—\/ﬁ)—ﬁ(2\/§—\/€)
= 43J10 —\/5x5x3 — 2410 +4/2x 2% 3

= 4310 -5v3 - 2410 + 243
=( 2410 -343




